NAME: ______________

HSCI 202 Pathophysiology

Exam 2
March 26, 2012
1) Which of the following is NOT a function of insulin?

a) Suppress appetite

b) Suppress glycogenolysis

c) Stimulate uptake of glucose into skeletal muscle cells

d) Stimulate lipolysis

e) Stimulate protein synthesis

2) What is a description of diabetes mellitus type 2?

a) There is a resistance to insulin by insulin-sensitive tissues.

b) There is an increased glucagon secretion from α-cells of the pancreas.

c) There are autoantibodies that destroy ß-cells in the pancreas.

d) There are autoantibodies that bind to insulin receptors.

e) There is increased absorption of glucose from the small intestines.

3) Which of the following diseases is greatly increased in diabetics?
a) coronary artery disease

b) cataracts

c) peripheral artery disease

d) kidney failure

e) all of the above are greatly increased in diabetics

4) A 62 year old female patient undergoes an extensive cardiac examination.  Heart rate is 87 (beats per minute), blood pressures is 95/56 (mmHg), and echocardiography shows LVEDV = 63 (ml) and LVESV = 24 (ml).  Which of the following values is INCORRECT?

a) Stroke volume = 39 ml

b) Cardiac output = 3.4 L/minute

c) Ejection fraction = 62%

d) Mean arterial pressure = 79 mmHg

e) All of these values are correct
5) What is wrong with the patient in the question above?

a) LVEDV is lower than normal
b) Ejection fraction is higher than normal

c) Blood pressure is higher than normal

d) Cardiac output is greater than normal

e) There is no problem with the patient

6) After birth, a patent ductus arteriosus would allow the inappropriate movement of blood from ____.
a) left atrium to right atrium

b) right atrium to left atrium

c) pulmonary artery to aorta
d) aorta to pulmonary artery

e) none of these
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7) [image: image1]What dysrhythmia is shown in the EKG above?

a) None, it’s a normal sinus rhythm

b) First degree heart block

c) Second degree type 1 heart block

d) Second degree type 2 heart block

e) Third degree heart block

8) In the diagram on the right, which number corresponds to atrial contraction?

a) 1

b) 2

c) 3

d) 4

e) 5

9) Thoracentesis is performed on a patient with a pleural effusion.  Lab results indicate that the fluid contains blood.  Which of the following causes is most likely?

a) Mesothelial cancer

b) Pneumonia

c) Pleuritis

d) Congestive heart failure

e) Lung trauma

10) The nurse is evaluating a patient with small cell (oat cell) carcinoma of the lung for SIADH.  Which of the following laboratory values would the nurse expect to find if this patient has SIADH?

a) Elevated ACTH

b) Low blood pressure
c) Low serum glucose

d) Low serum sodium
e) None of these findings are expected in SIADH
11) A patient has ARDS secondary to flu.  PaCO2 is 25 mmHg and PaO2 is 70 mmHg.  Which of the following is most likely true at this time?

a) PaCO2 is elevated due to decreased ventilation of the alveoli
b) The patient is in hypoxic drive
c) The patient has respirator acidosis
d) O2 is diffusing better that CO2 in this patient
e) The patient is hypoventilating
12) Which form of obstructive pulmonary disease is primarily caused by bronchial hyperresponsiveness along with excess mucus production?

a) asthma

b) emphysema

c) chronic bronchitis

d) all of the above
13) A 63 year-old female weighs 54 kg and has a serum creatinine of 2.4 mg/dl.  What is her estimated creatinine clearance?  (Assume 54 kg is her ideal weight.)
a) 24 ml/min
b) 36 ml/min
c) 52 ml/min

d) 89 ml/min
e) 112 ml/min
14) Which form of kidney failure is most likely to result from ureteral strictures?
a) chronic renal failure

b) pre-renal acute renal failure

c) intra-renal acute renal failure

d) post-renal acute renal failure

e) none of these, ureteral strictures cannot cause renal failure

15) A patient has arterial pH of 7.35, PCO2 of 56 mmHg and HCO3- of 30 mM. Which scenario is most likely?

a) The patient has kidney failure and the kidneys are losing HCO3-

b) The patient has COPD and is retaining too much CO2

c) The patient is vomiting excessively and is losing H+

d) The patient has recently consumed a large amount of base
e) The patient is fine, there is no acid-base abnormality

16) What is the leading cause of chronic renal failure?

a) diabetes mellitus

b) high blood pressure

c) ischemic kidney disease

d) nephrotoxins

17) A 62 year old female presents to the ER via ambulance. The patient arrived on a CPAP machine, placed by the paramedics en route, due to an on scene oxygen saturation of 76%. The patient’s breathing is notably labored and the patient is too fatigued to answer any questions. The patient is tripoding and using accessory muscles to breath. The patient is tachypneic, anxious, diaphoretic, has clubbed fingers, a barrel shaped chest, and grey/blue nail beds. On arrival the patient’s oxygen saturation is 86% on CPAP. The patient is transferred from the ambulance stretcher to an ER bed and placed on a non-rebreather (NRB) mask. Initial Vital Signs: BP 160/90, HR 112, RR 32, O2 Sat 84% on NRB, Temp. 98.4. Immediately upon arrival, the patient had an EKG showing sinus tachycardia. Labs, blood cultures, and an i-STAT® ABG were obtained. The patient was placed on a cardiac monitor, pulse oximeter, and NIBP monitor. The patient was placed on BiPAP by the hospital’s respiratory therapist, and the patient’s O2 Sat rose to 92%, but the patient continued to show signs of severe respiratory distress. A STAT chest x-ray and STAT CT scan of the chest were ordered. The i-STAT® ABG showed critical high PaCO2 (98), critical low PaO2 (46), and low pH (7.19). Which of the following is the most likely diagnosis?

a) CHF Exacerbation

b) ARDS

c) COPD Exacerbation

d) Pneumonia

e) Myocardial Infarction

18) A 16-year-old healthy adolescent is involved in a schoolyard gang fight and stabbed in the chest with a knife in the left midclavicular line. He is taken to the emergency department and on arrival his blood pressure is barely obtainable. His lungs are clear to auscultation. His heart sounds are barely audible. Which of the following is the most likely acute condition that may preclude his survival?

a) Myocardial contusion

b) Aortic laceration

c) Pericardial tamponade

d) Endocarditis

e) Acute infarction

19) A two year old child, comes into the Pediatric Emergency Room with tachycardia (HR of 125 bpm), tachypnea (respiratory rate of 40), shortness of breath, pallor, and chest retractions. The child had been “kicking a soccer ball and running in the backyard for less than an hour and then began to breathe heavily and started to look pale”. Patient’s labs were WNL. A chest X-ray ruled out pneumonia. In addition, urine and sputum cultures ruled out all other types of infections. Finally, an echocardiogram was ordered to rule out cardiac defects. The child’s echocardiogram showed atrial septal defect (ASD) and auscultation revealed a heart murmur. Which of the following statements is most likely correct?

a) the ASD caused cyanosis in this child

b) increase blood flow through the lungs caused pulmonary edema

c) the murmur is continuous

d) blood flow through the ASD is not affected by exercise
e) none of the above are likely
20) A 15 year old female presents to the ED c/o of vomiting on and off over the past 2 days, a headache, and “not feeling well.” She decided to come to the hospital when she started to have abdominal pain and was having trouble catching her breath. On initial assessment, she is a thin girl who appears lethargic and to be having Kussmaul respirations. Her breath has a fruity odor. Her vital signs are: 36.5 degrees Celsius, HR 115, BP 90/50, RR 34, O2 saturation 94%. The RN instantly collects a finger stick blood glucose due to the fruity odor of her breath to find a glucose level of >500 mg/dl. Other labs are collected and are notable for large urine ketones, a pH of 7.25 and HCO3 of 12.  Which of the following statements is most likely true?

a) the low BP is the result of hypovolemia

b) the high blood glucose is the result of insulin resistance

c) her anion gap is normal

d) the fruity breath is the result of a pulmonary problem

e) none of the above are correct

21) A 65 year-old female is post operative day two after a right total knee replacement. After surgery due to her difficulties with pain the patient has refused physical therapy and has been unable to get out of bed. During her morning nursing assessment, the patient complains of moderate chest discomfort with pain level 6/10, some shortness of breath, and quickly thereafter became diaphoretic. Vital signs reveal: BP 152/82, HR 139, RR 26, T: 98.7, O2 sat on RA: 90%. Immediately a 12-lead ECG was ordered and performed revealing sinus tachycardia with ventricular rate of 139 beats per minute. STAT cardiac enzymes were WNL, but D-dimer was elevated. The patient has been placed on the warfarin protocol that began the night after surgery. Her pre-operative INR was 1.01. Her post-op day #2 INR was 1.2 after having received two doses of Coumadin. Her INR goal on the warfarin protocol was 2-3, so the patient was not yet therapeutic. Which of the following is most likely causing this patient’s discomfort?

a) Pulmonary embolism

b) Acute myocardial infarction

c) Pleural effusion

d) Pulmonary edema

e) Pneumonia

22) A Thirty year old male presents to his general practitioner for increasing back pain, which he states has become increasingly worse over the past several months. He describes the pain as “sharp and crampy,” and indicates to his mid back as the location of the pain.  Pt. denies fever, chills, frequent urination, pain on urination or recent trauma.  Past medical history is significant only for moderate hypertension, which is well controlled on current medication regimen.  Family history is unobtainable.  Routine labs were drawn, including CBC, CMP and urinalysis.  Upon physical examination pt. is found to have CVA tenderness. Deep palpation of the abdomen elicits pain bilaterally and evidences enlarged kidneys.  Based on physical findings pt. is sent for a CT scan. Urinalysis revealed hematuria and proteinuria; BUN= 40 (normal 7-18) Creatinine 2.7(normal 0.6-1.2); CT scan revealed diffuse renal cysts bilaterally. Which of the following is the most likely diagnosis?
a) Pyelonephritis
b) Nephrolithiasis
c) Polycystic Kidney Disease
d) Renal Carcinoma
e) Acute Tubular Necrosis
23) A 65 year old male presents to the emergency room with complaints of chest pain. He describes it as a chest pressure radiating into left arm and jaw, and states it feels as though somebody is stepping on his chest and it is hard to breathe. Pain is unrelieved by rest, and increases in severity with even minimal activity. Labs were also drawn; CBC was unremarkable, but serum troponin and D-dimer were both elevated. Which of the following is the most likely cause of his pain?

a) Myocardial infarction

b) Aortic laceration

c) Pericardial tamponade

d) Endocarditis

e) Ruptured aortic aneurysm

24) A 57-year-old man is found comatose. On physical examination he has decreased skin turgor (he’s dehydrated). Laboratory studies show a blood glucose of 780 mg/dl. Urinalysis reveals no ketosis or proteinuria, though there is glucosuria. Which of the following is the most likely diagnosis?

a) Islet cell tumor secreting insulin

b) Type I diabetes mellitus

c) Cushing syndrome

d) Ingestion of a large quantity of sugar

e) Type II diabetes mellitus

25) A 31 year old female presented to the ED complaining of back pain, nausea, and a fever. She woke up with 9/10 left sided flank pain that radiated to her left lower abdomen. Her BP was 137/76; pulse was 104; pulse ox 100.0% on room air; and a temperature of 38.4 degrees Celsius. She denied dysuria, frequency, or urgency. She was ordered for a renal sonogram to rule out an obstruction or a kidney stone. A CBC showed her WBC’s to be 19.3 k/uL. A UA showed positive large leukocyte esterase, 12 WBC, trace RBC, negative nitrites, and many bacteria. A clean catch urine culture showed 10,000-50,000 cfu/ml of staphylococcus aureus. The renal sonogram showed moderate hydronephrosis with mild dilation of the proximal ureter. There were no obvious renal calculi. The left ureteral jet suggested non-obstructive flow into the bladder. Which of the following is the most likely diagnosis?
a) Pyelonephritis
b) Nephrolithiasis
c) Polycystic Kidney Disease
d) Renal Carcinoma
e) Acute Tubular Necrosis
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